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There are several misprinted formulae in the paper, as listed in the following. None of the corrections change any
conclusions of the article.

There is a misprint in Eq. �20� which should read
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There is a misprint in the paragraph immediately following Eq. �20�. It should read: “Similar to Eq. �4� of the 2D case, the
response coefficient G��� can be expressed….”

There is a misprint in Eq. �31� in the manuscript which should read
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There is a misprint in Eq. �67� which should read
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There are misprints in Eqs. �78� and �79�, and the equation after Eq. �79� �10 lines below� which should read
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respectively.
There is a misprint in the equation after Eq. �81� �8 lines below� which should read
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There is a misprint and the second equation after Eq. �91� �21 lines below� which should read
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There is a misprint in the equation after Eq. �112� �2 lines below� which should read
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There is a misprint in Eq. �118� which should read
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There is a misprint in the second equation after Eq. �134� �25 lines below� which should read
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There is a misprint in line 9 of Table II: �i should be replaced by ai.
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